A AE=XL
B ool AN U3
el ME=X 285 N (ehel: =3
_ _ HEc
SN BB - MEAY - BES Aro e HRZE2
At =X ot 103,124,843 87,286,028 15,838,815
= 60,575,910
= 18,433,254
Il 310,000
= 198,705
= 22,286,974
2 1,320,000
A ZYH 23t 103,041,343 87,202,528 15,838,815
= 60,575,910
& 18,433,254
Il 310,000
&2 198,705
= 22,203,474
£ 1,320,000
ME=X gds X 176,944 160,200 16,744
= 30,680
& 146,264
AE=X HMOpY 21,000 20,400 600
202 (4Hl 18,000 18,000 0
01 =AY 18,000 18,000 0
Outg=XgR=a 10,000
OUMAZE R 24 d== 8,000
203 R4l 3,000 2,400 600
03 AMF=XHRLEFEH| 3,000 2,400 600
Odte=Xdd AlMFA 3,000
LE=AX - S FELX HP2 2= 27,144 52,000 N24,856
= 20,880
= 6,264
403 X HMEA=01H 27,144 52,000 A 24,856
= 20,880
< 6,264
01 AXIEMA2EX 27,144 52,000 A24,856
O3g X ZY=z 26,100,000 *4km*26% 27,144
= 20,880
& 6,264
d2ggade s4d X 119,000 78,000 41,000
301 et ag 2,000 2,000 0
10 HAIAHIEA S 2,000 2,000 0
OYYE=AX W= 200,000& =10 2,000
307 2120l & 102,000 61,000 41,000
02 QI3 aEx 102,000 61,000 41,000
OLh=2t2| BHE B AL 20,000
Od= JPA=AHXUS Mzl X 60,000
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2

el &:!F.’_EOJE*EI (&9 HM
_ _ _ AT
2N -3 -2 (SH) - NEME - HES Ol &F2H ‘Oﬂ/i\_Fo” Hns

01 XIXSHHBIAEXTS 1,846,388 1,846,388 0
O’r=2 & X 402,263,000 *9Z *51% 1,846,388
= 1,086,110
= 760,278

403 XXM S K 201H 412,477 412,477 0
=2 242,633
< 169,844

01 AMXISMAE2E=X 412,477 412,477 0
Otr=2 X 67,398,200 * 125 *51% 412,477
=2 242,633
= 169,844

Arelgol S 2 A K& 1,190,506 1,190,506 0
= 926,248
& 264,258

206 TH=Hl 43,480 43,480 0
= 43,480

01 Mzl 43,480 43,480 0
Ol galis MU 10,870,000& 45 43,480
= 43,480

308 AXHMSOIN 1,029,019 1,147,026 A 118,007
= 791,993
= 237,026

01 XAXSHHBIAEEZ 1,029,019 1,147,026 A 118,007
Oxreldalls 2l 543,298
= 418,361
< 124,937
Ot gais oz At 485,721
= 373,632
< 112,089

403 XXM SK=201H 118,007 0 118,007
= 90,775
= 27,232

01 AXISMAESE=X 118,007 0 118,007
(OFA=E=00 ES=1N] 118,007
= 90,775
= 27,232

MEESASAY 1,895,462 1,895,462 0
= 1,679,523
= 215,939

308 AXIHMSOIN 1,895,462 1,895,462 0
= 1,679,523
= 215,939

01 XIXSHBIAEXTS 1,895,462 1,895,462 0
ONe 8BS 2A3IAIS 2,399,318,000& *79% 1,895,462
= 1,679,523
== 215,939
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M Y AMe U3
Sol: MBS e (Etel: &8
_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE
ATAIY X 6,488,583 4,671,188 1,817,395
= 6,058,254
= 430,329
201 Lete gyl 11,250 10,000 1,250
= 9,000
= 2,250
01 At 2l 11,250 10,000 1,250
OUSEIZY BIIE 22 11,250
= 9,000
= 2,250
403 KHXISHHSAHEO0IH 6,477,333 4,661,188 1,816, 145
= 6,049,254
= 428,079
01 RXSHR ST 6,477,333 4,661,188 1,816, 145
OUTAY 6,427,333
= 6,049,254
= 378,079
0272 UE & 50,000
AFEEALES X ® 12,318,731 10,669,581 1,649, 150
= 10,090,322
= 2,228,409
307 SI2t0IH 441,314 176,490 264,824
= 308,920
= 132,394
05 SIRtelerz 441,314 176,490 264,824
OAFEFANY) EbERS BOF A 441,314
= 308,920
= 132,394
403 X+XICHAIS KH2 01 & 11,877,417 10,493,091 1,384,326
= 9,781,402
= 2,096,015
01 XEXISHAIR =2 X 11,877,417 10,493,091 1,384,326
OAF AL 11,877,417
= 9,781,402
= 2,096,015
ASRSED| AR} 1,650,000 1,650,000 0
= 330,000
= 1,320,000
201 Lete gyl 1,650,000 1,650,000 0
= 330,000
= 1,320,000
01 At 2l 1,650,000 1,650,000 0
OMZXISHEI| YR 5,500,0002 *150Al 2H+2CH 1,650,000
= 330,000
= 1,320,000
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M AE=X0
M gy FdH Lt
& MEES 2t (&9 HM
_ _ MEc
SAN-ZH-SA(FA) - NRAY - BES (il & OH ‘Oﬂ/i\_Fo” Hlw &2
A2 ZAIE - AEHEH K- 602,916 605,316 A2,400
308 XXISHHESO0IA 297,000 270,000 27,000
01 AXEHINELS 297,000 270,000 27,000
OUERZZAE 2SI
45,0003 #4002 #1502 10% 270,000
Ot=ER0 23 27,000
403 A XIEHSXH=01H 305,916 335,316 229,400
01 XML = 305,916 335,316 29,400
O& =283t 55,000,000 *6LCH*30% 99,000
Ou=REEII] &X
14,000,000 *25CH *30% 105,000
OlngssEgT 1Y 8,000,000& *16CH*30% 38,400
OugEs A8 EX 1,039,000 *100CH *30% 31,170
OANZIetolE 260,000 »32CH *30% 2,49
osllege 65,000 & *300CH *30% 5,850
OL223X oHLyE 1,600& *50, 00071 *30% 24,000
2R L X& 25,000 25,000 0
307 @Iztol A 25,000 25,000 0
02 BIZHANE X 25,000 25,000 0
OLI X2 25,000
AtXl2te| Xl 115,920 130,055 214,135
= 89,946
< 25,974
201 LEH2HH| 8,000 8,000 0
01 AtR2teld] 8,000 8,000 0
O&tX 223 23 100,000& 102 +83] 8,000
308 AXIEHHSOIA 107,920 122,055 214,135
= 89,946
= 17,974
01 MXEMISELS 107,920 122,055 A14,135
OUXHEZLIHE 149,888,000 *72% 107,920
= 89,946
< 17,974
AEE |4 54,742,347 42,836,666 11,905,681
= 44,364,865
& 829,000
< 9,548,482
g dEAE X2 24,184 127,062 » 102,878
= 18,603
< 5,581
308 XXIHHMSOIA 24,184 127,062 A102,878
= 18,603
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Sl aRTE 84 (25 &2
_ _ MuE o
SA-FH - SA(SAH) - MREAY - BES Off &k OH Ofl At ot Hws2

< 5,581

01 RXSHBABES 24, 184 127,062 ~102,878
00K MBI Xy 24, 184
= 18,603
= 5,581

ZYBRIMN X 3,037,613 2,762,412 275,201
= 3,037,613

401 Al&HIL 20| 3,037,613 2,762,412 275,201
= 3,037,613

01 Al&t] 3,027,213 0 3,027,213
OXE 2B 3,027,213
=2 3,027,213

03 Al&=CH| 10,400 10,400 0
OYQML U +3XE 10,400
= 10,400

EYAE X2 10,692,547 9,721,043 971,504
= 8,685,500
= 2,007,047

201 Yer2 ) 4,500 4,000 500

01 At 4,500 4,000 500
OASY o £ A Sl 4,500

202 01t 10,000 10,000 0
= 0,000

01 2Uioibl 10,000 10,000 0
OMBENZEA LS 22 0,000
= 0,000

403 MXSHSKZ0IH 10,678,047 9,707,043 971,004
= 8,675,500
= 2,002,547

01 MXSHRZEE 10,678,047 9,707,043 971,004
Ox2 At 10,678,047
= 8,675,500
= 2,002,547

DEMAI|BEL K 191,400 174,000 17,400
= 145,200
= 46,200

403 XHXISHH S =0 191,400 174,000 17,400
= 145,200
= 46,200

01 MXSHRZEE 191,400 174,000 17,400
ORSMAI|BIES 191,400
=2 145,200
= 46,200

£ PIIAE X2 30,549,578 19,473,059 11,076,519
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SN

M ool AW 2
ool MBI 4 (B9 &2
_ _ _ Muo
SN EB - SA(SH) - MBAY - BES 0 & 24 e timE=El
= 26,077,389
= 4,472,189
201 Ygreg| 5,000 5,000 0
= 2,500
= 2,500
01 AFR 2/t 5,000 5,000 0
OFIIPI| BOI4E  100,0008 58 x5 523 5,000
=2 2,500
= 2,500
403 XX GRS XH2 0/ 30,544,578 19,468,059 11,076,519
= 26,074,889
= 4,469,689
01 XIXICHH X2 X 30,544,578 19,468,059 11,076,519
O£IIPIIAY 19,637,815
=2 16,929, 151
= 2,708,664
OBT&EIHR) 6,908,078
=2 5,792,501
& 1,115,577
OHol QA2 4T &t 3,998,685
=2 3,353,237
= 645,448
270182 X 787,500 1,285,719 498,219
=2 531,000
= 256,500
403 X+ GHRIS XH2 0/ & 787,500 1,285,719 £498,219
=2 531,000
= 256,500
01 XIXICHH e S 787,500 1,285,719 498,219
USSR AT 450, 0002 *800+56% 201,600
= 180,000
= 21,600
omBUY X 4,333,330 %2700 *42% 491,400
= 351,000
= 140,400
ost=2RY X 1,500, 000! *300CH *21% 94,500
MRS M AP T 2,672,809 2,693,459 20,650
= 2,162,240
= 510,569
201 Yereg| 4,500 6,750 A2,250
01 AtRZr2/Hl 4,500 6,750 A2,250
Olrarel slaIgol a4y
150,0002! *15% %23 4,500
403 XHXISHAIS XH= 0 H 2,668,309 2,686,709 A 18,400
=2 2,162,240
= 506,069
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01 RXISHHAEEX 2,668,309 2,686,709 18,400
OE DAl L 1,131,000, 0002 *26% 294,060
2 226,200
= 67,860
OEDEYUHIX AIE 500,000,0002! 26% 130,000
2 100,000
= 30,000
O &2 AL 5,000, 0002 *250km*26% 325,000
2 250,000
= 75,000
O EAIN ALY 282,0002 x781ha*86% 189,409
=2 176,194
[ 13,215
ogLra=e 899,230, 0002 26% 233,800
2 179,846
[ 53,954
OF &2 M A A 10,000, 000! *60ha*26% 156,000
2 120,000
[ 36,000
OBtEHRIZHH| K| & 12,000, 0002 *20CH *26% 62,400
2 48,000
= 14,400
OB M AR X 807,500, 0002 26% 209,950
2 161,500
= 48,450
OSMA=S AKX 7,000,0002 *200ha*46% 644,000
2 560,000
= 84,000
OLASMAOI2IH X 50,000, 000! <65% 32,500
2 25,000
= 7,500
OMBl=aAY XA 867,000,0002! 26% 225,420
2 173,400
= 52,020
ORMS ELWE 4,750,0002 * 12ha*86% 49,020
2 45,600
= 3,420
OXZ4 2HAL 100,000, 000! *36% 36,000
2 30,000
[ 6,000
OREXEAN 95,000, 000! +85% 80,750
2 66,500
[ 14,250
AMNSREXH 4,775,924 4,529,520 246,404
2 3,658,720
= 1,117,204
403 XHXICHHI S XH=0| & 4,775,924 4,529,520 246,404
2 3,658,720
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_ _ _ Muo
SAN-ZH-SA(FA) - NRAY - BES Ofl &+ 9K Ofl At ot Hws2
< 1,117,204
01 RXISAX=EE 4,775,924 4,529,520 246,404
OYlE HEAL 4,867,500,0002! *30% 1,460,250
= 973,500
= 486,750
OYMNSEERASGIX
1,864,900, 0002 *26% 484,874
=2 372,980
= 111,804
OZZCIXNS KR 400,000, 000! *30% 120,000
=2 80,000
= 40,000
OYle HESHMSS CIXRINL
193,920, 00021 *50% 96,960
= 77,568
= 19,392
OYMS PESHCE HFAQAIL
181,680, 0002 *50% 90,840
= 72,672
= 18,168
OYUSIHBEY| 410,000, 00024 *30% 123,000
= 82,000
= 41,000
OYUSMNBHRISHE AL NS
4,000,000, 000! *60% 2,400,000
= 2,000,000
= 400,000
pETER 2Ry X 82,620 137,600 154,980
= 48,600
= 34,020
403 XX SRS K20/ & 82,620 137,600 54,980
= 48,600
= 34,020
01 XEXISHAX =2 X 82,620 137,600 154,980
OMENFE SYRY X2
162,000, 00021 *51% 82,620
=2 48,600
= 34,020
ST B A& & 516,000 570,000 A54,000
=l 476,000
= 40,000
307 212+0IH 40,000 0 40,000
02 QIAHABE 40,000 0 40,000
OBZHAMY M A 40,000
403 XX SRS K20/ & 476,000 570,000 94,000
= 476,000
01 RXSAXZSE 476,000 570,000 94,000
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A ME=X

e
ool MERE 84 (sl &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2
OSMH2SHMEE (&) 195,000, 000& *80% 156,000
= 156,000
OSTZSNMES(E) 640,000,000 *50% 320,000
= 320,000
AYH0ILLYRA= =24 X2 509,452 755,200 A245,748
403 XXM SA=01H 509,452 715,200 AN 205,748
01 XM= E = 509,452 715,200 N205,748
ORLHOIQ YA% XA 509,452
=S MSIIEAIE K& 390,000 144,000 246,000
= 353,000
= 37,000
403 XXM SA201H 390,000 144,000 246,000
= 353,000
= 37,000
01 AXESMIA2E = 390,000 144,000 246,000
OYMSLEILAIE X2 390,000
z 353,000
= 37,000
FTACHH] 23 4&= SEXE 512,720 463,592 49,128
403 [tXIEMSK=01H 512,720 463,592 49,128
01 RXISHIRE 512,720 463,592 49,128
Ogrerl | 3,000,000 *63CH *40% 75,600
OLELINE 282,000 *400ha*40% 45,120
OAMUZE B3 ALY
300,000, 000 *40% 120,000
Og=+=y 4X 5,000, 000 *45ha*40% 90,000
osgernlol 2,500, 0002 *20CH *40% 20,000
OSsmalx= AT 3,000,000 *25HA*40% 30,000
O+E8 ST BT
440,000,000 *30% 132,000
NYEY - =XHE 21,539,969 21,074,569 465,380
= 2,064,083
& 11,546,000
| 310,000
= 198,705
= 7,421,181
MEMEOE 24 K& 4,703,592 3,609,655 1,093,937
= 73,953
= 3,798,000
= 831,639
201 et 3,000 3,000 0
01 ARt 3,000 3,000 0
OXed BHLY S 3,000




A ME=X

Hu: ool AM U3
Sol: MEEY - =XEE (e de
_ _ _ Muo
SN EB - SA(SH) - MBAY - BES 0 & 24 e timE=El
308 XiXIEHHSOIH 88,742 110, 155 A21,413
= 73,953
= 14,789
01 RXSHBARED 88,742 110, 155 A21,413
OUEMENDIS 2N 88,742
= 73,953
= 14,789
403 XX SHHS K20l A 4,611,850 3,496,500 1,115,350
2 3,798,000
= 813,850
01 XHXISHHIR2E = 4,611,850 3,496,500 1,115,350
OMEMEIDIS T4 5,425,705, 0002 *B5% 4,611,850
2 3,798,000
= 813,850
MElE X4 X 475,000 292,500 182,500
2 350,000
= 125,000
403 XX S HS K201 A 475,000 292,500 182,500
2 350,000
= 125,000
01 XXISHHIA2E = 475,000 292,500 182,500
OMElE X4 500,000, 00021 * 17 A x65% 325,000
2 250,000
= 75,000
OMEME 2SI EX E4
200,000,000 * 17 2 75% 150,000
2 100,000
= 50,000
£2AXH X2 3,442,632 3,808,026 365,394
= 177,192
2 2,820,000
= 445,440
308 Xt XIEHHI S OIH 212,632 108,026 104,606
= 177,192
= 35,440
01 MHXSHBALED 212,632 108,026 104,606
O£+22ALIYO0H 2ZX
295,321,000 *72% 212,632
= 177,192
= 35,440
403 XX S HS =01 A 3,230,000 3,700,000 A 470,000
2 2,820,000
= 410,000
01 XXISHHIA 2L = 3,230,000 3,700,000 A 470,000
SIEEERT 2,000,000, 000%50% 1,000,000
2 1,000,000
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H o

AAd=sdd &I 1,797,878 1,333,069 464,809
310,730
,050,000
437,148

H o8 1)

308 NXISHHMSOIH 372,878 133,069 239,809

310,730
62,148

o

01 MXEMIHELS 372,878 133,069 239,809

O= i<t 186,439
155,365
31,074
O= MeEjzele 186,439
155,365
31,074
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N
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P

,425,000 1,200,000 225,000

,050,000
375,000

H o

01 MHXSHMAEEE 1,425,000 1,200,000 225,000
OXes2y ZL(2) 1,791,044,000& «67% 1,200,000

900,000

300,000

OuzgEd 24 300,000,000 *75% 225,000

150,000

75,000

H o

H o

SAN=24 XN& 5,040,597 6,242,210 A1,201,613
364,477
,528,000
, 148,120

H o
w

—_

308 NXISHHMSOIE 129,197 284,210 A~ 155,013

114,477
14,720

o

01 MXEMIMELS 129,197 284,210 A 155,013
el 2 129,197

114,477
14,720

o

403 AXIHHSK=201H 4,911,400 5,958,000 A 1,046,600
250,000
,528,000
1,133,400

Hog
w

01 MXEMA=2E = 4,911,400 5,958,000 A 1,046,600
ON24MsHY T4
100,000,000 *1JH 2 *65% 65,000

50,000
15,000

o
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SA - X - HAAH) - ALY - BES At ol Ol AF o8 BlusZ
OZAI% X4 X2 7,056,000, 000! 65% 4,586,400
= 3,528,000
= 1,058,400
OZ A% DHAY (& 100,000, 0002 *65% 65,000
= 50,000
= 15,000
Ostn% &N 300,000, 00021 *65% 195,000
= 150,000
= 45,000
&S sE2s BR 1,161,245 1,165,524 ~4,279
= 637,731
= 523,514
201 Y2y 3,600 0 3,600
02 ZZ2H| 3,600 0 3,600
OSY 1000H& BAIOIE R4 3,600
308 XHXIEHHISOIH 312,873 258,740 54,133
= 225,131
= 87,742
01 HXCSHBAEES 312,873 258,740 54,133
OLEAE X 222,819
= 184,246
= 38,573
OSaterLy el 49,062
= 40,885
= 8,177
OWEES3 22 JI=He+y 36,000
ORSHHCATH N 26,0002 *640% *30% 4,992
403 RHXISHHISAHEOIH 844,772 806,784 37,988
= 412,600
= 432,172
01 RXISHR =X 844,772 806,784 37,988
OZAMER SHEE 701,420
= 412,600
= 288,820
OYat SHE JY  21,302,0008! «20km*30% 128,352
OLAR SHZ FH| 15,000
SN2 H 2L 650,000 325,000 325,000
= 500,000
= 150,000
403 XHXIGHHSXHR O ® 650,000 325,000 325,000
= 500,000
= 150,000
01 XA ZE 650,000 325,000 325,000
OOtECHE 100HALIRE JHRII ALY
1,000,000,0002! 65% 650,000
= 500,000
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A ME=X

e
CHol: MEEY - =X8E (Etol e
_ _ - MEc
SA-FH - SA(SAH) - MREAY - BES Off &k OH Ofl At ot HusZ
| < 150,000
254 FH 198,705 198,705 0
= 198,705
308 X+l EHHISOIH 198,705 198,705 0
== 198,705
01 MXESHBLEES 198,705 198,705 0
o234 H| 198,705
= 198,705
Jelsd Z@s N 4,070,320 4,099,900 129,580
p 310,000
= 3,760,320
201 Lere g 4,560 3,000 1,560
01 ArR22It| 4,560 3,000 1,560
OZAs o PIJAY I24Y S 3,000
OL23EHs B 6,0002 <2601 1,560
308 Xt EHHISOIH 5,760 5,760 0
01 MXESHILEES 5,760 5,760 0
OR23axx 2= b
600, 0002 * 16Al T %28| *30% 5,760
403 KHXISHAISAH2 01 ™ 4,060,000 4,091,140 A31,140
g 310,000
= 3,750,000
01 RXISAR 22X 4,060,000 4,091,140 A31,140
O &2 A 3,500,000, 0002 +30% 1,050,000
OGreen& gParkt 4 1,850,000
OYEINZE =4 2,166,666, 0002 *30% 650,000
OEZ ZYZE ZAY  500,000,0002 <40% 200,000
OsMEXBA ZHAY 310,000
Dl 310,000
#HSAAH (MBS D) 83,500 83,500 0
ol e 4,200 4,200 0
olzt@ oyl 4,200 4,200 0
203 YRFA| 4,200 4,200 0
04 RASHLLFAY 4,200 4,200 0
OME=NYREX 4,200
= 79,300 79,300 0
1= 79,300 79,300 0
201 Lere | 43,300 43,300 0
01 AtR2t2/H| 42,000 38,000 4,000
OME=NYREX 42,000
02 22| 1,300 5,300 4,000
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